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Aims
e To study the changes of throughput when the parameters are vary.
e To study and investigate the amount of maximum throughput that can be achieved by using
wireless LAN and Ethernet link using iperf .

Network Diagram
In this experiment, we have conducted two network topologies which are shown below.
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Equipment Specifications
We have conducted experiment by using two laptop computers and one router. Specifications of
equipments are listed below.

Name Laptop 1 (As a Server)
Model Acer Aspire1410

(0 Ubuntu 11.10

Memory 2GB DDR2

Network Interface  Acer Nplify 802.11b/g/Draft-N

©
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Sticky Note
The wired network interface should be listed as well.

sgordon
Sticky Note
This first aim is too generic. Throughput of what? What parameters? The second aim is ok. 


Name Laptop 2 ( As a client)
Model Vaio E-Series

(0 Ubuntu 11.10
Memory 4GB DDR2

Network Interface

Vaio Integrated Wireless LAN IEEE 802.11b/g/n

Name Router
Model Linksys WRT54GL
Firmware penWrt Backfire 10.03.1 / LuCl.10.0 Release (0.10.0)

Kernel Version

2.4.37.9

Parameters

e Datasize:

=

0-100 Mb

e RTS/CTS Threshold : 250 Bytes @

e Protocol Used :

uDP

O

Experiments and Results
Our experimented was divided into two parts which are wireless link and wired link.

Experiment 1 - Wireless Link
In this experiment, our targeted is to find the maximum of throughput of wireless link. We have

found the maximum, minimum and the average throughput as plotted below. To find the amount of
throughput, we conducted the same experiment with the same equipment, but different value of
parameter, data size. We increased our data size by 1 Mb at each time. The initial data size is 1 Mb.@
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Sticky Note
Network interface information for the router is also important. Wireless LAN and wired. What does it support?
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Sticky Note
These parameters need some more context. "Data size" - is that the size of the file being transferred?? RTS/CTS threshold is ok, but you should state it is a wireless LAN parameter (as RTS/CTS is a general mechanism in other protocols). Protocol used: IP? Ethernet? 
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Sticky Note
I think you mean "sending rate" not data size. And measured in Mb/s not Mb.
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Sticky Note
Its not clear what the 5 different lines are above. Maybe Throughput 1 to Throughput 4 are your measurements and Average is the average of those 4. The text above mentions minimum and maximum. Which are they? I recommend you take multiple measurements and then plot only the average.
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Sticky Note
Any other parameters? Wireless LAN data rate? Fragmentation threshold? Ethernet data rate? ...

sgordon
Sticky Note
What iperf commands did you use for the tests?
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An average value of the throughputs. @

Conclusion

In conclusion, we found that if we increased size of data, the throughput will exponentially increase@
until the data size reached the value of 24 — 30. The throughput after

Z@II stay stable.

Experiment 2 - Wired Ethernet Link
In this experiment, as same as experiment 1, we conducted an experiment in the same way and

equipment. The different is that we have changed network topology to wired LAN. We have found
the maximum, minimum and the average throughput as plotted below. The initial data size is 1 Mb.
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sgordon
Sticky Note
This plot (and also above plot) use a terrible scale. The y-axis is too small (i.e. you have squished the plot into too small vertical space on the page - about 1cm, when it should be 5 to 10cm). 
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Sticky Note
I don't see an exponential increase - it is linear. 
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Sticky Note
Will stay stable? What does that mean? Do you mean it is the maximum throughput?

sgordon
Sticky Note
Make sure you always include correct units, e.g. Mb/s.
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Sticky Note
Why did you use 9 tests in wired lan and only 4 in wireless LAN?

sgordon
Sticky Note
Why did you stop at sending rate of 50Mb/s? What if you send at 100Mb/s?
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An average value of the throughputs. @
Conclusion

In conclusion, we found that if we increased size of data, the throughput will exponentially increase
with no slowing down because LAN has more sending rate.
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Sticky Note
Same comments apply for these results as in for wireless LAN. 
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Sticky Note
You have two aims at the start of the report. One is to find the maximum throughput. For wireless LAN you found 24Mb/s (but didn't clearly say this is the maximum throughput). For wired LAN you didn't find the maximum throughput. So you haven't achieved your aims.




